			J&K Uti	lities, LLC	Griffin I	Bros., Inc.	Mid-South Builders, Inc.		
		1085 Winder Hwy/P.O. Box 35		103 Griffin Drive		7057 Maddox Rd./P.O. Box 878			
				Jefferson, GA 30549 (706) 367-9464		Maysville, GA 30558 (706) 677-3549		Lithonia, GA 30058	
								(770) 4	84-9600
			No. of	UNIT	TOTAL FOR	UNIT	TOTAL FOR	UNIT	TOTAL FOR
ITEM NO.	DESCRIPTION	UNIT	Units	PRICE	ITEM	PRICE	ITEM	PRICE	ITEM
	VIDEO TAPING OF THE PIPELINE ROUTES AND PUMP STATION								
01025.00	SITE	LS	1	\$500.00	\$500.00	\$500.00		·	\$500.00
02270.01	ROCK REMOVAL - TRENCH ROCK	CY	450	\$70.00	\$31,500.00	\$70.00	\$31,500.00	\$70.00	\$31,500.00
02270.00	EROSION CONTROL								
02270.01	SILT FENCE - TYPE A	LF	1,400	\$2.60	\$3,640.00	\$1.81	\$2,534.00		\$2,100.00
02270.02	SILT FENCE - TYPE C	LF	200	\$3.30	\$660.00	\$2.87	\$574.00		\$700.00
02270.03	HAYBALE CHECKDAMS	EA	10	\$60.00	\$600.00	\$36.00			\$1,200.00
02270.04	CONSTRUCTION EXIT	EA	1	\$2,800.00	\$2,800.00	\$1,685.64	\$1,685.64		\$2,500.00
02272.00	RIP RAP	CY	80	\$80.00	\$6,400.00	\$51.63	\$4,130.40	\$1.00	\$80.00
02300.00	BORING AND JACKING								
	JACK AND BORE CONVENTIONAL - COMPLETE WITH 16" STEEL								
	CASING AND 8" CLASS 350 DIP GRAVITY SEWER, RESTRAINED								
02300.01	JOINTS AND PROTECTO 401 COATING	LF	70	\$260.00	\$18,200.00	\$358.70	\$25,109.00	\$400.00	\$28,000.00
	COMPLETE WITH 16" STEEL CASING AND 8" CLASS 350 DIP								
	GRAVITY SEWER, RESTRAINED JOINTS AND PROTECTO 401								
02300.02	COATING	LF	20	\$340.00	\$6,800.00	\$793.70	\$15,874.00	\$1.00	\$20.00
	JACK AND BORE - COMPLETE WITH 12" STEEL CASING AND 6"								
02300.03	SDR 35 PVC GRAVITY SEWER	LF	28	\$235.00	\$6,580.00	\$309.08	\$8,654.24	\$300.00	\$8,400.00
	COMPLETE WITH 12" STEEL CASING AND 6" SDR 35 PVC								
02300.04	GRAVITY SEWER	LF	10	\$260.00	\$2,600.00	\$344.08	\$3,440.80	\$1.00	\$10.00
02510.00	ASPHALT PAVEMENT REPLACEMENT - SHEET PV				<u> </u>				
02510.01	REMOVE EXISTING ASPHALT	SY	4,040	\$3.25	\$13,130.00	\$8.50	\$34,340.00	\$5.50	\$22,220.00
	UNCLASSIFIED EXCAVATION REQUIRED FOR PLACEMENT OF 8"								
02510.02	GAB	CY	898	\$22.00	\$19,756.00	\$20.00	\$17,960.00	\$45.00	\$40,410.00
	REPAIR OF SOFT SUB-BASE - COMPLETE INCLUDING								
	EXCAVATION OF UNACCEPTABLE MATERIAL AND REPAIR WITH								
02510.03	GAB	CY	100	\$53.50	\$5,350.00	\$42.27	\$4,227.00	\$85.00	\$8,500.00
	INSTALLATION OF GEOTEXTILE FABRIC IN SOFT SUB-BASE								
	REPAIR AREAS - COMPLETE INCLUDING MATERIALS, LABOR,								
02510.04	ETC.	SY	300	\$1.25	\$375.00	\$2.00		·	\$1,500.00
02510.05	8" GAB ROAD BASE	SY	4,040	\$13.75	\$55,550.00	\$20.74	\$83,789.60	\$20.00	\$80,800.00
	4" 19MM SUPERPAVE ASPHALT BINDER INCLUDING								
02510.06	BITUMINOUS PRIME	TON	890	\$97.00	\$86,330.00	\$108.09			\$124,600.00
02510.07	2" 12.5MM SUPERPAVE ASPHALT WEAR SURFACE	TON	445	\$103.00	\$45,835.00	\$119.10	\$52,999.50		\$64,525.00
02510.08	BITUMINOUS TACK COAT	GAL	404	\$4.00	\$1,616.00	\$5.25	\$2,121.00	\$5.00	\$2,020.00

02575.00	DRIVEWAY REPAIR / INSTALLATION								
02575.01	GRAVEL DRIVEWAY REPAIR	LF	36	\$83.00	\$2,988.00	\$9.72	\$349.92	\$15.00	\$540.00
	TEMPORARY GRAVEL DETOUR LANE INSTALLATION AND							·	
02575.02	REMOVAL UPON PROJECT COMPLETION	SY	530	\$13.75	\$7,287.50	\$9.31	\$4,934.30	\$15.00	\$7,950.00
02575.03	ASPHALT PAVEMENT CUT AND REPAIR	LF	675	\$38.00	\$25,650.00	\$64.57	\$43,584.75	\$50.00	\$33,750.00
02575.04	CONCRETE CURB AND GUTTER CUT AND REPAIR	LF	20	\$30.00	\$600.00	\$60.00	\$1,200.00	\$40.00	\$800.00
02601.00	MANHOLES								
	STANDARD 4'-0" MANHOLE INCLUDES BASE, CONE, RISER,								
02601.01	FRAME AND COVER, COMPLETE, 0'-6' DEPTH	EA	13	\$3,295.00	\$42,835.00	\$3,106.72	\$40,387.36	\$3,350.00	\$43,550.00
02601.02	4'-0" MANHOLE ADDITIONAL VERTICAL FEET	VF	80	\$400.00	\$32,000.00	\$190.72	\$15,257.60	\$150.00	\$12,000.00
02602.00	EXISTING MANHOLE / WETWELL COATINGS								
02602.01	COATING EXISTING 4'-0" MANHOLE C1	EA	1	\$2,160.00	\$2,160.00	\$1,076.91	\$1,076.91	\$3,000.00	\$3,000.00
02603.00	NEW MANHOLE / WETWELL COATINGS								
02603.01	COATING NEW 8'-0" DIAMETER WETWELL	EA	1	\$10,580.00	\$10,580.00	\$6,875.81	\$6,875.81	\$16,000.00	\$16,000.00
02603.02	COATING NEW 4'-0" DIAMETER MANHOLE A1	EA	1	\$3,160.00	\$3,160.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00
02732.00	SANITARY SEWER FORCE MAINS								
02732.01	6" DR 18 C900 PVC FORCE MAIN	LF	1,650	\$16.50	\$27,225.00	\$30.84	\$50,886.00	\$31.06	\$51,249.00
	COMBO SEWAGE AIR/VACUUM AIR RELEASE VALVE AND								
02732.02	MANHOLE - COMPLETE	EA	2	\$7,500.00	\$15,000.00	\$6,930.21	\$13,860.42	\$10,000.00	\$20,000.00
	CORE AND CONNECT NEW 6" FORCEMAIN TO EXISTING								
02732.03	MANHOLE C1 - COMPLETE	EA	1	\$2,800.00	\$2,800.00	\$1,550.00	\$1,550.00	\$1,500.00	\$1,500.00
02736.00	SANITARY SEWER								
02736.01	8" DIA. SDR 35 PVC, 6-8' CUT	LF	98	\$45.00	\$4,410.00	\$58.14	\$5,697.72	\$120.00	\$11,760.00
02736.02	8" DIA. SDR 35 PVC, 8-10' CUT	LF	1,042	\$46.50	\$48,453.00	\$63.14	\$65,791.88	\$123.00	\$128,166.00
02736.03	8" DIA. SDR 35 PVC, 10-12' CUT	LF	343	\$51.60	\$17,698.80	\$68.14	\$23,372.02	\$131.00	\$44,933.00
02736.04	8" DIA. SDR 35 PVC, 12-14' CUT	LF	462	\$54.00	\$24,948.00	\$73.14	\$33,790.68	\$134.00	\$61,908.00
02736.05	8" DIA. SDR 35 PVC, 14-16' CUT	LF	76	\$56.00	\$4,256.00	\$88.14	\$6,698.64	\$137.00	\$10,412.00
02736.06	8" DIA. SDR 35 PVC, 16-18' CUT	LF	201	\$59.00	\$11,859.00	\$108.14	\$21,736.14	\$139.00	\$27,939.00
02736.07	8" DIA. SDR 35 PVC, 18-20' CUT	LF	232	\$62.00	\$14,384.00	\$128.14	\$29,728.48	\$142.00	\$32,944.00
	8" DIA. CLASS 350 DIP WITH RESTRAINED JOINTS AND								
02736.08	PROTECTO 401 COATING, ALL DEPTHS	LF	20	\$125.00	\$2,500.00	\$155.86	\$3,117.20	\$160.00	\$3,200.00
20722	±220 LF 6" DIA. SDR 35 PVC SERVICE LATERAL, INCLUDING			<b>A7.450.00</b>	<b>A7.450.00</b>	00.445.55	<b>\$0.445.55</b>	<b>#</b> 40 500 00	<b>*</b> 40 500 00
02736.09	CLEANOUTS - COMPLETE	LS	1	\$7,150.00	\$7,150.00	\$9,445.55	\$9,445.55	\$16,500.00	\$16,500.00
02736.10	6" DIA. SDR 35 PVC STUBOUT WITH CLEANOUT - COMPLETE	EA	12	\$1,250.00	\$15,000.00	\$3,027.64	\$36,331.68	\$1,200.00	\$14,400.00
02931.00	PERMANENT GRASSING	LF	2,500	\$2.50	\$6,250.00	\$1.50	\$3,750.00	\$1.50	\$3,750.00
11310.01	SUBMERSIBLE SEWAGE PUMP STATION			T T	T	T		T	
	SOUTH INDUSTRIAL PARK SUBMERSIBLE LIFT STATION -								
11310.01	COMPLETE	LS	1	\$388,220.00	\$388,220.00	\$359,967.45	\$359,967.45	\$354,726.00	\$354,726.00
	TOTAL BASE BID				\$1,025,636.30		\$1,168,489.79		\$1,325,562.00
				Ŀ	,-=-,	Ļ	, -,,	Ļ	, -,,

#### **MANDATORY ALTERNATE BID ITEMS**

				J&K Utilities, LLC		Griffin Bros., Inc.		Mid-South Builders, Inc.	
					1085 Winder Hwy/P.O. Box 35		103 Griffin Drive		Rd./P.O. Box 878
				Jefferson, GA 30549		Maysville, GA 30558		Lithonia, GA 30058	
				(706)	367-9464	(706) 6	377-3549	(770) 484-9600	
		No. of		UNIT	TOTAL FOR	UNIT	TOTAL FOR	UNIT	TOTAL FOR
ITEM NO.	DESCRIPTION	UNIT	Units	PRICE	ITEM	PRICE	ITEM	PRICE	ITEM
02736.01A	8" DIA. SDR 26 PVC, 6-8' CUT	LF	98	\$47.25	\$4,630.50	\$59.41	\$5,822.18	\$121.50	\$11,907.00
02736.02A	8" DIA. SDR 26 PVC, 8-10' CUT	LF	1,042	\$48.75	\$50,797.50	\$64.41	\$67,115.22	\$124.50	\$129,729.00
02736.03A	8" DIA. SDR 26 PVC, 10-12' CUT	LF	343	\$53.85	\$18,470.55	\$69.41	\$23,807.63	\$132.50	\$45,447.50
02736.04A	8" DIA. SDR 26 PVC, 12-14' CUT	LF	462	\$56.25	\$25,987.50	\$74.41	\$34,377.42	\$135.50	\$62,601.00
02736.05A	8" DIA. SDR 26 PVC, 14-16' CUT	LF	76	\$58.25	\$4,427.00	\$89.41	\$6,795.16	\$138.50	\$10,526.00
02736.06A	8" DIA. SDR 26 PVC, 16-18' CUT	LF	201	\$61.25	\$12,311.25	\$109.41	\$21,991.41	\$140.50	\$28,240.50
02736.07A	8" DIA. SDR 26 PVC, 18-20' CUT	LF	232	\$64.25	\$14,906.00	\$129.41	\$30,023.12	\$143.50	\$33,292.00
NPDES	NPDES, EROSION, SEDIMENTATION	LS	1	\$4,500.00	\$4,500.00	\$4,400.00	\$4,400.00	\$5,000.00	\$5,000.00

				Wilco	Wilcorp, Inc.		on Group, Inc.	G.P.'s Enterprises, Inc.	
				215 Cc	oats Drive	871 Old Peac	htree Road NW	1500 Hwy 124	
				Toccoa,	GA 30577	Lawrenceville, GA 30043		Auburn, GA	
				(706) 886-0077		(770) 513-4588		(770) 945-0810	
			No. of	UNIT TOTAL FOR		UNIT	TOTAL FOR	UNIT	TOTAL FOR
ITEM NO.	DESCRIPTION	UNIT	Units	PRICE	ITEM	PRICE	ITEM	PRICE	ITEM
	VIDEO TAPING OF THE PIPELINE ROUTES AND PUMP STATION								
01025.00	SITE	LS	1	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
02270.01	ROCK REMOVAL - TRENCH ROCK	CY	450	\$70.00	\$31,500.00	\$70.00	\$31,500.00	\$70.00	\$31,500.00
02270.00	EROSION CONTROL								
02270.01	SILT FENCE - TYPE A	LF	1,400	\$5.00	\$7,000.00	\$4.00	\$5,600.00	\$4.56	\$6,384.00
02270.02	SILT FENCE - TYPE C	LF	200	\$8.00	\$1,600.00	\$4.00	\$800.00	\$10.42	\$2,084.00
02270.03	HAYBALE CHECKDAMS	EA	10	\$500.00	\$5,000.00	\$15.00	\$150.00	\$488.46	\$4,884.60
02270.04	CONSTRUCTION EXIT	EA	1	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00	\$3,200.00	\$3,200.00
02272.00	RIP RAP	CY	80	\$150.00	\$12,000.00	\$55.00	\$4,400.00	\$97.69	\$7,815.20
02300.00	BORING AND JACKING								
	JACK AND BORE CONVENTIONAL - COMPLETE WITH 16" STEEL								
	CASING AND 8" CLASS 350 DIP GRAVITY SEWER, RESTRAINED								
02300.01	JOINTS AND PROTECTO 401 COATING	LF	70	\$375.00	\$26,250.00	\$632.00	\$44,240.00	\$488.46	\$34,192.20
	ADD ON CHARGE - JACK AND BORE THROUGH ROCK -								
	COMPLETE WITH 16" STEEL CASING AND 8" CLASS 350 DIP								
	GRAVITY SEWER, RESTRAINED JOINTS AND PROTECTO 401								
02300.02	COATING	LF	20	\$1,200.00	\$24,000.00	\$675.00	\$13,500.00	\$716.41	\$14,328.20
	JACK AND BORE - COMPLETE WITH 12" STEEL CASING AND 6"								
02300.03	SDR 35 PVC GRAVITY SEWER	LF	28	\$375.00	\$10,500.00	\$598.00	\$16,744.00	\$358.21	\$10,029.88
	ADD ON CHARGE - JACK AND BORE THROUGH ROCK-								
	COMPLETE WITH 12" STEEL CASING AND 6" SDR 35 PVC								
02300.04	GRAVITY SEWER	LF	10	\$1,200.00	\$12,000.00	\$675.00	\$6,750.00	\$618.72	\$6,187.20
02510.00	ASPHALT PAVEMENT REPLACEMENT - SHEET PV								
02510.01	REMOVE EXISTING ASPHALT	SY	4,040	\$6.00	\$24,240.00	\$10.10	\$40,804.00	\$15.63	\$63,145.20
	UNCLASSIFIED EXCAVATION REQUIRED FOR PLACEMENT OF 8"								
02510.02	GAB	CY	898	\$50.00	\$44,900.00	\$30.00	\$26,940.00	\$30.65	\$27,523.70
	REPAIR OF SOFT SUB-BASE - COMPLETE INCLUDING								
	EXCAVATION OF UNACCEPTABLE MATERIAL AND REPAIR WITH	۵۱,	400	<b>4</b> 00	4= -00 00	400.00	40.000.00	404.04	40.404.00
02510.03	GAB	CY	100	\$75.00	\$7,500.00	\$38.00	\$3,800.00	\$91.64	\$9,164.00
	INSTALLATION OF GEOTEXTILE FABRIC IN SOFT SUB-BASE								
00540.04	REPAIR AREAS - COMPLETE INCLUDING MATERIALS, LABOR,	0).(	000	<b>47</b> 00	40.400.00	40.00	4000.00	400.04	40.700.00
02510.04	ETC.	SY	300	\$7.00	\$2,100.00	\$2.00	\$600.00	\$29.21	\$8,763.00
02510.05	8" GAB ROAD BASE	SY	4,040	\$28.00	\$113,120.00	\$19.25	\$77,770.00	\$20.87	\$84,314.80
00540.00	4" 19MM SUPERPAVE ASPHALT BINDER INCLUDING	TON	000	6407.00	<b>6440 000 00</b>	<b>645000</b>	M400 500 00	<b>#</b> 054.00	<b>#000 000 00</b>
02510.06	BITUMINOUS PRIME	TON	890	\$127.00	\$113,030.00	\$150.00	\$133,500.00	\$254.00	\$226,060.00
02510.07	2" 12.5MM SUPERPAVE ASPHALT WEAR SURFACE	TON	445	\$135.00	\$60,075.00	\$150.00	\$66,750.00	\$273.54	\$121,725.30
02510.08	BITUMINOUS TACK COAT	GAL	404	\$15.00	\$6,060.00	\$10.00	\$4,040.00	\$10.42	\$4,209.68

				•					
02575.00	DRIVEWAY REPAIR / INSTALLATION								
02575.01	GRAVEL DRIVEWAY REPAIR	LF	36	\$150.00	\$5,400.00	\$12.00	\$432.00	\$110.61	\$3,981.96
	TEMPORARY GRAVEL DETOUR LANE INSTALLATION AND								
02575.02	REMOVAL UPON PROJECT COMPLETION	SY	530	\$38.00	\$20,140.00	\$15.00	\$7,950.00	\$38.66	\$20,489.80
02575.03	ASPHALT PAVEMENT CUT AND REPAIR	LF	675	\$10.00	\$6,750.00	\$72.00	\$48,600.00	\$54.50	\$36,787.50
02575.04	CONCRETE CURB AND GUTTER CUT AND REPAIR	LF	20	\$100.00	\$2,000.00	\$30.00	\$600.00	\$71.64	\$1,432.80
02601.00	MANHOLES				<u> </u>				
	STANDARD 4'-0" MANHOLE INCLUDES BASE, CONE, RISER,								
02601.01	FRAME AND COVER, COMPLETE, 0'-6' DEPTH	EA	13	\$8,000.00	\$104,000.00	\$4,800.00	\$62,400.00	\$4,247.13	\$55,212.69
02601.02	4'-0" MANHOLE ADDITIONAL VERTICAL FEET	VF	80	\$1,000.00	\$80,000.00	\$3,200.00	\$256,000.00	\$400.00	\$32,000.00
02602.00	EXISTING MANHOLE / WETWELL COATINGS				<u></u>				
02602.01	COATING EXISTING 4'-0" MANHOLE C1	EA	1	\$10,000.00	\$10,000.00	\$3,110.00	\$3,110.00	\$18,782.05	\$18,782.05
02603.00	NEW MANHOLE / WETWELL COATINGS				<u></u>				
02603.01	COATING NEW 8'-0" DIAMETER WETWELL	EA	1	\$25,000.00	\$25,000.00	\$9,875.00	\$9,875.00	\$22,038.25	\$22,038.25
02603.02	COATING NEW 4'-0" DIAMETER MANHOLE A1	EA	1	\$10,000.00	\$10,000.00	\$5,022.00	\$5,022.00	\$16,176.00	\$16,176.00
02732.00	SANITARY SEWER FORCE MAINS				<u>.</u>			<u>.                                      </u>	
02732.01	6" DR 18 C900 PVC FORCE MAIN	LF	1,650	\$32.00	\$52,800.00	\$80.00	\$132,000.00	\$55.59	\$91,723.50
	COMBO SEWAGE AIR/VACUUM AIR RELEASE VALVE AND								
02732.02	MANHOLE - COMPLETE	EA	2	\$13,000.00	\$26,000.00	\$11,250.00	\$22,500.00	\$13,857.43	\$27,714.86
	CORE AND CONNECT NEW 6" FORCEMAIN TO EXISTING								
02732.03	MANHOLE C1 - COMPLETE	EA	1	\$6,500.00	\$6,500.00	\$6,120.00	\$6,120.00	\$4,756.41	\$4,756.41
02736.00	SANITARY SEWER								
02736.01	8" DIA. SDR 35 PVC, 6-8' CUT	LF	98	\$56.00	\$5,488.00	\$85.00	\$8,330.00	\$66.62	\$6,528.76
02736.02	8" DIA. SDR 35 PVC, 8-10' CUT	LF	1,042	\$66.00	\$68,772.00	\$85.00	\$88,570.00	\$77.84	\$81,109.28
02736.03	8" DIA. SDR 35 PVC, 10-12' CUT	LF	343	\$76.00	\$26,068.00	\$85.00	\$29,155.00	\$90.67	\$31,099.81
02736.04	8" DIA. SDR 35 PVC, 12-14' CUT	LF	462	\$86.00	\$39,732.00	\$92.00	\$42,504.00	\$97.20	\$44,906.40
02736.05	8" DIA. SDR 35 PVC, 14-16' CUT	LF	76	\$96.00	\$7,296.00	\$94.50	\$7,182.00	\$110.31	\$8,383.56
02736.06	8" DIA. SDR 35 PVC, 16-18' CUT	LF	201	\$106.00	\$21,306.00	\$108.00	\$21,708.00	\$114.10	\$22,934.10
02736.07	8" DIA. SDR 35 PVC, 18-20' CUT	LF	232	\$116.00	\$26,912.00	\$115.00	\$26,680.00	\$120.31	\$27,911.92
	8" DIA. CLASS 350 DIP WITH RESTRAINED JOINTS AND								
02736.08	PROTECTO 401 COATING, ALL DEPTHS	LF	20	\$80.00	\$1,600.00	\$125.00	\$2,500.00	\$414.00	\$8,280.00
	±220 LF 6" DIA. SDR 35 PVC SERVICE LATERAL, INCLUDING								
02736.09	CLEANOUTS - COMPLETE	LS	1	\$12,500.00	\$12,500.00	\$41,500.00	\$41,500.00	\$15,071.15	\$15,071.15
02736.10	6" DIA. SDR 35 PVC STUBOUT WITH CLEANOUT - COMPLETE	EA	12	\$5,500.00	\$66,000.00	\$955.00	\$11,460.00	\$1,592.31	\$19,107.72
02931.00	PERMANENT GRASSING	LF	2,500	\$10.00	\$25,000.00	\$5.00	\$12,500.00	\$15.63	\$39,075.00
11310.01	SUBMERSIBLE SEWAGE PUMP STATION	•	•	•	·		•		
	SOUTH INDUSTRIAL PARK SUBMERSIBLE LIFT STATION -								
11310.01	COMPLETE	LS	1	\$288,000.00	\$288,000.00	\$415,000.00	\$415,000.00	\$976,922.74	\$976,922.74
	TOTAL BASE BID	_			\$1,442,639.00		\$1,742,586.00		\$2,278,437.22

Wilcorp, Inc.

The Dickerson Group, Inc.

G.P.'s Enterprises, Inc.

#### **MANDATORY ALTERNATE BID ITEMS**

				215 Coats Drive		871 Old Peachtree Road NW		1500 Hwy 124	
				Toccoa, GA 30577		Lawrenceville, GA 30043		Auburn, GA	
				(706) 886-0077		(770) 513-4588		(770) 9	945-0810
			No. of	UNIT	TOTAL FOR	UNIT	TOTAL FOR	UNIT	TOTAL FOR
ITEM NO.	DESCRIPTION	UNIT	Units	PRICE	ITEM	PRICE	ITEM	PRICE	ITEM
02736.01A	8" DIA. SDR 26 PVC, 6-8' CUT	LF	98	\$58.00	\$5,684.00	\$84.00	\$8,232.00	\$70.62	\$6,920.76
02736.02A	8" DIA. SDR 26 PVC, 8-10' CUT	LF	1,042	\$68.00	\$70,856.00	\$84.00	\$87,528.00	\$81.84	\$85,277.28
02736.03A	8" DIA. SDR 26 PVC, 10-12' CUT	LF	343	\$78.00	\$26,754.00	\$84.00	\$28,812.00	\$94.67	\$32,471.81
02736.04A	8" DIA. SDR 26 PVC, 12-14' CUT	LF	462	\$88.00	\$40,656.00	\$90.80	\$41,949.60	\$101.20	\$46,754.40
02736.05A	8" DIA. SDR 26 PVC, 14-16' CUT	LF	76	\$98.00	\$7,448.00	\$93.50	\$7,106.00	\$114.31	\$8,687.56
02736.06A	8" DIA. SDR 26 PVC, 16-18' CUT	LF	201	\$108.00	\$21,708.00	\$107.00	\$21,507.00	\$118.10	\$23,738.10
02736.07A	8" DIA. SDR 26 PVC, 18-20' CUT	LF	232	\$118.00	\$27,376.00	\$114.00	\$26,448.00	\$124.31	\$28,839.92
NPDES	NPDES, EROSION, SEDIMENTATION	LS	1	\$15,000.00	\$15,000.00	\$8,500.00	\$8,500.00	\$8,500.00	\$8,500.00

I hereby certify this to be a true and accurate tabulation of bids received by the City of Hoschton on April 10, 2019.

Greg Bennett, PE Engineering Management, Inc.